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Puzzle 1 (Very hard, difficulty rating 0.75)

] | ]
~|o|o|—|<|w|ajolm]  El—|c|w]o|o|m]~[o|<]  B]x|o|n]m|w|ol—|o|—]  Fo|w| —]<|w|o]cf—|m
o o o
o|nfm]o|~ol— (<t |v]  Ho|o|m]—|o|<t|of—|w o |wo|o|—[wo|~||st[m] <] v|oo|m|—|©|wo]o
s ® s
w|<t|—||m|o]|~|o|o St |||~ |wo]o|o|m S~ | m|afo| <t |wofw]o Slo|m|w]— ||| o
2 2 2
|| oo~ Flo[wfs|m|o| e —|~|© 3| <t [~]o| ||| m|— 3 || o= < |w || ©
o|w|~<|N|olo|—|o] B[~ w]|©]o|m|o] B[] |m|olo|—[wv]  Tlo||o|w|—|m]—|o| <
g € g
| t|olo|—|w|m|w]  Slo|m|o]o|—[—|wu|[x|]  S|o|o|ol—|[—|w]x|o|]  Slw|<s|~]wo|o|o]m|a]—
e) o e)

(5] (] [5)
o|m(wl~|o| o] ZlN-|ow|mfolstol—]  ZSlo|m|o]|wfo| | Sl |w| | m o) ©o]of—| -
N ™ <
—|~|oowo|o|n|m|o| <t o]l —[<r|oo|m |y~ o]oo|—|<t|o|~|n|m|o]|o o|m[— |||~ =[]
N N N
S|©|Nfo|—|mfow|=] - Slofs—|ola|~|o|w|of - Sle|aifwlo stjmfol—(©o] - Sl~(ofof—|<r|wfo|m

7




